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540 + 6 =

A number is divisible by 3 if the sum of its digits is divisible by 3.

Circle: True or False

How many apples are in 1 dozen? apples

$4.73
X 8

15xn=120;n=

0.18 +16.15 =

Use the table to complete questions 7 and 8.

S

/0.

Roosters | 1 2 3 4 5 6 7 8

Chickens| 25 | 50 | 75

If there are 5 roosters, how many chickens are there?

If there are 200 chickens, how many roosters are there?

50

40
What would the temperature be 30+
if it decreased 8 degrees? ’;‘:-
0-

rate = 65 miles/hour -to

If a car travels 2 hours, how many miles will it travel?

chickens

roosters

miles




